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1.

Given the reaction: carbon dioxide plus water plus energy

to make glucose and oxygen

6COx + 6H:Og) + ENERGY 2 C¢H1206 (o) + 602 (5) is endothermic.

Predict the shift in equilibrium when the following changes are imposed

a.

b.

Addition of H,O K\Gu H T
Decrease the amount of CsH120¢ R IG H ‘1_

Incr'ag r'ejil.’l’r;e p\IG\HT

Decrease temperature LJ/B']'

Add a catalyst No d/\m?'{ Im @QMW

Write the equilibrium law for the reaction k(lt

[CL I3 6] [03]
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2. Given the reaction: : 2H, o) + Oy, — 2H,O ) +energy is exothermic.
Predict the shift in equilibrium when the following changes are imposed

a. Addition of oxygen R

b. Decrease the amount of hydrogen gas L/

c. Decrease pressure }\/

d. Increase temperature l\-/

e. Add a catalyst J\l 0 W\w

f. Write the equilibrium law for the reaction. R

[ Ha0)

1 [H, ) (0a]

g. Given the following concentrations are founf in a 1L solution: [O .] = 0.24

[H2]=0.18 ; [H:0]=0.26 mol
Determine the value of Keq. Does the reaction favor the products or

reactants(how do you know)?
(0ab)°
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3. Given the reaction: : LisPOq <> 3liey + PO3 (g

Predict the shift in equilibrium when the following changes are imposed
a.  Addition of POs> |,

b. Decrease the amount of LiPO, L—

c. What does the additi a ca‘ralysT do to the activation energy? 4 E

d.  Addition of LiCl ( ’\l{_l_ ?ﬂ

Con\.wuﬁ"'

e. Write the equilibrium law or ‘rhe reac on. 3__
Wpp= Lhi*T3 f o {
v

ChizPoy]

f. Werite the solubility product express:on how does it differ from Keq
+
K Nt 13[Pos>
S P f

g. If the Ksp is 2.37x104, deTer'mme the concen‘rr'a‘rlon of lithium and phosphaTe ions

ngfol"l 3‘\! + PO‘/
5 L% X
*SF [Li] D’&}‘3
;)37wb (3\5(1) 1005
23767 = a3y [hit)=3x 3(0.05%

07’37)(1(;f 2 20.]1baM

952 0
‘673*/0
(3BHD )" -x ;
(0000008777)) 7 Y
(00000371777 )
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5. AN T 3L M
|m%z(j) uﬂ) D'L'['j"%l/

T 0.2, M 0 0.0 M

—_—

C 6.2-2% 0+3x  00%+X
0*3(0,()22\) 0 0% +0.02%

g 0.7% met

—b 0.0bbM 0102 M
(6150 M| .
- [NalH, ]
=050 Ke
0'913\%220?[{%“0@ ‘l ‘:"”(7)]1

,
—Av = (). = 109 obbb :0.00|Q
"Rk R
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115md L2k
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7 Which substance is more soluble in water at 25C.
: Lead (Il) sulfafe or Lead (lI) hydroxide? Why?
Ksp = 2.53 x 108 Ksp = 1.43 x 16°
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8. What is the concentration of barium ions and nitrate
ions in a saturated solution of Barium gl‘rr'a‘re at 25°C.
(Ksp = 4.63 x 103) Be N6
Ba(NO;), =— Ba2 +  2NOs-
X
K exf*JfNOJ 24
o -3 [(Ba J=7

463} 3' (\()(Q;{) =0.105M.

4630077 X (4 )

Y agxlo ‘41 05): R
A" - Loy 2(/0%")
(w7’)y3:>< S0

d
0.105 - X

10
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9. What is the concentration of copper (Il) ions and
phosphate ions in a saturated solution of copper(ll)
phosphate at 2%C.  (Ksp = 1.40 x 10%7)

Cus(POs) = 3 Cu? + 2P0
Dy 2
-G PO . 3y
'kSPS_, J[ ‘*1 [Cl"] (b7x/o)
L4010 (73‘9 (QQ =501 ¥

= @3 @x

HOe D0 Lo g 306740

) z 39X DY
l.(ﬂWDg‘ (o

11
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Ca @ 23

10. Will a precipitate of calcium carbonate 750 ml of 0.52 M calcium chloride,
CaCl,, is mixed with 250 ml of 0.35M iron (IlI) carbonate, FeCO 3 ?
(Ksp CaCO; = 5.2 x 10%)

CaCh — Ca +ZCt FeCO; =— Fez + CO¥

0.75L0%3k A 2 0,73,“@ o.’ASLxO."ﬁ%f 0.0%1> ;4&( O.D‘Z'?Sn/(
.

20.3%mal *0.08BmH

Colls = "+ (s

e O o] [cog“‘]>
(45{) : O/?aLﬂ)(O.O Lg
saxp* < |0.03‘ﬂf§.

o Pt e

12
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11.  Will a precipitate of barium fluoride form if 500ml of 0.0025 M aluminum fluoride
AlF; is mixed with 500 ml of 0.001 M Barium hydroxide , Ba(OH) ,
(Ksp BaF. =1.84x 107)

AlFg — ==Al + 3 Ba(OH), —=Baz + 20H-

0.6on.ooas__me\>oo|am\b.oo37§ﬁ4{ 05Lx0-00\_mtvP o.oouqﬂg D.OO\M(-
L

‘D.DOla5m‘f e 0.0005 P

=Q_=Q9%Saﬁ o_wogLn_E(
BQ,EQ, = 6(1,9* ' &F__

ree CF 1
i O D.0009) (0-00375)1

-7 _
ATTTUNE YISV 1)
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13) : .
LIF"-.:-‘ Lit + F J\/a,bPOq ~= :d ,y*' :?: -y
z 515x07° 575%10 ,45%10 ASX 10
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Review Section 18.1-18.3 review sheet #2

1.  Given the reaction: carbon dioxide plus water plus energy to make glucose and oxygen  6CO2(g)  +  6H2O(l) (   C6H12O6 (aq) + 6O2 (g)  is endothermic.


Predict the shift in equilibrium when the following changes are imposed


a.  Addition of H2O

b. Decrease the amount of C6H12O6

c. Increase pressure


d. Decrease temperature


e. Add a catalyst


f. Write the equilibrium law for the reaction

2. Given the reaction:  :  2H2 (g) + O2 (g)   → 2H2O (l)   is exothermic.


Predict the shift in equilibrium when the following changes are imposed


a.  Addition of oxygen  

b. Decrease the amount  of  hydrogen gas     

c. Decrease  pressure


d. Increase temperature


e. Add a catalyst


f. Write the equilibrium law for the reaction.

g. Given the following concentrations are founf in a 1L solution :  [O2]  = 0.24     

  [H2] = 0.18  ;    [H2O] = 0.26 mol

  Determine the value of Keq.  Does the reaction favor the products or     


  reactants(how do you know)?


3. Given the reaction:  :  Li3PO4 (s)      

[image: image1.wmf]«


  3Li+(aq)     +    PO43-(aq).


Predict the shift in equilibrium when the following changes are imposed


a.  Addition of PO43-

b. Decrease the amount  of Li3PO4     

c. What does the addition of a catalyst do to the activation energy?

d. Addition of LiCl (s)

e. Write the equilibrium law for the reaction.


f. Write the solubility product expression, how does it differ from Keq


g. If the Ksp is 2.37x10-4, determine the concentration of lithium and phosphate ions


4. Which substance is more soluble in water at 25oC. 


a. Lead (ll) sulfate             or           Lead (ll) hydroxide?                      Why?

Ksp = 2.53 x 10-8                                  Ksp = 1.43 x 10-20 

5.  What is the concentration of barium  ions  and nitrate ions in a saturated solution of Barium nitrate at 25oC.  ( Ksp = 4.63 x 10-3)


6.  What is the concentration of copper (ll) ions and phosphate  ions in a saturated solution of copper(ll) phosphate at 25oC.     (Ksp = 1.40 x 10-37)

7. Will a precipitate of calcium carbonate 750 ml of 0.52 M calcium chloride, CaCl2,   is  mixed with 250 ml of 0.35M iron (ll) carbonate, FeCO3 ? (Ksp CaCO3 = 5.2 x 10-6)


8. Will a precipitate of barium fluoride form if 500ml of 0.0025 M aluminum fluoride AlF3 is mixed with 500 ml of 0.001 M Barium hydroxide , Ba(OH)2  ,  

(Ksp BaF2  = 1.84x 10-7)


_1334389164.unknown
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